Mean Rotor
Torque [KN-m]

Mean OoP Blade-Root
Bending Moment [KN-m]]

Mean Pitching Blade-Root

Mean Fore/Aft Tower-Base

Bending Moment [KN-m]

Bending Moment [KN-m]
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Yaw Misalignment [ded]
(a) Rotor torque
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Yaw Misalignment [ded]
(c) Out-of-plane blade-root bending moment
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Yaw Misalignment [ded]
(e) Blade-root pitching moment
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(g) Fore/aft tower-base bending moment

Yaw Misalignment [ded]

Mean Out-of-Plane
Blade Deflection [m]

Mean IP Blade-Root
Bending Moment [KN-m]

Bending Moment [KN-m]

Mean Side/Side Tower-Base

Mean Tower-Base
Yaw Moment [kN-m]
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Yaw Misalignment [degd]
(b) Out-of-plane blade deflection
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Yaw Misalignment [ded]
(d) In-plane blade-root bending moment
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Yaw Misalignment [ded]
(f) Side/side tower-base bending moment
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Yaw Misalignment [ded]
(h) Tower-base yaw moment



